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(A) 10:36 (B) 10:48 (C) 11:20 (D) 12:00

2. —8Y Flar} > Hfa,=1+2++k>Ka;+a,+-+az="7?
(A) 1540 (B) 3080 (C) 210 (D) 2870

3. BNFEHHEINBE R - AR (<120 4) WYLEH KERORO /NREFIR - fBIEH
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(A) (-5 4) (B) (-3 4) ©) (14 O d-4
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A o TAEERT A 20 552 30 BRiVA 11 A S AEIES/PE T ?
(A) 57 (B) 46 (C) 36 (D) 35

5. G metdtsf > W H Wil S - e A ltE M 2ARE 6 A RFE—R
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(A) 494 (B) 496 (C) 500 (D) 506



6. FEFIWYD R A BN SRR T 0 SR Erar A BN W b By B R A R
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(A) 5/6 (B) 5/12 (C) 35/36 (D) 4/12
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o B5R £ CHY S By a2
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(A)m/6
(B)T[/4 P Q
(C)m/3
(D)m/2
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8. THI2* =3Y =6 Hily/x 2 {8 Ffn]?
(A) 1 (B) log, 3 (C) logs 2 (D) log6

9. BElflla>0Hb > 03y =x%+ ax + afily = —x? + bx + bfEAZBL > THIFUM
fo] =& IEAE?
(A) a+h<0 (B) Va < 2H+Vb <2
(C)b<a<b+8 D) b<a<b—8

10. B + 2i B FE R x? + ax + b = 07 —fR - FHifa » X257
(A)a=2'b=5 B)a=-2b=5
(C)a=-1>b=4 (D)a=1>b=4

11. EXIAABC o » =B RH/NEIRS AR 5~ 8~ Ko HZA = 120°» KL=
AABC 1Y & By fal?
(A) 10 (B) 10v/3 (C) 20V/3 (D) 20

12. EVn —Vn—1 < 0.1 » SR/ NEFEEm B E?
(A) 21 (B) 25 (C) 26 (D) 29
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(A) 172 (B) 3/2 (C) 2 (D) 9/4
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(log2=0.3010, log3=0.4771, log5=0.6990 )
(A)SHIH (B)5S A 10 H O©OsA1H (D)s H 12 H

16. CHIA ~ B ~ C=BERSRY—(E = AT - 250 5% 04 = (1,—-3)7 0B = (2,—1)>
0C = (x + 1,x — 2) - SHiIxE g2 FHIbEE?
(A) 0 (B) 1 (C)2 (D) -1
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(A) 0 (B) 7 (€)9 (D) 10
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(A) 4 (B) 6 (C)8 (D) 12
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EREEEH 1 53 o Z/NARESE —EIFEEE 20 & » 5 /NS 8 7
(A)10 77 (B)20 77 (©)25 77 (D)60 77

24. /NFRIEF AR A L 8 (B A —IEREER - HEE:
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